Module-6: Synchronous Motor and MG Set | R=shlsTd HIeT dUT MG T

Q1 What is the name of the converter? | F=ac T ATH FT &2
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A Metal rectifier | &7 feseeshrY

B Rotary converter | 33T &halaeT

C Mercury arc rectifier | A 37 SRy

D Silicon controlled rectifier | RfereisT af3a fGserYy

answer:D,

Q2 What is the name of the converter? | F=ac< T ATH FIT &2
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1 and B

A Metal rectifier | &7 feseerry

B Rotary converter | qeT eAdex
C Mercury arc rectifier | #AIYT 3Tk SRR
D Motor-Generator set | HlcI-3Teie T

answer:B,

Q3 Why D.C supply is necessary for synchronous motor operation? | f&slar Hiex a2
& T D.C 3mqfc T 3maeaeh §72

A Reduce the losses | 1Tl &I & HY

B Start the motor initially | & # HeT FIC Y

C Run the motor with over load | #EX &I 31X #15 & AT TellT

D Run the motor at synchronous speed | HIeY I Jedhifele I & TATT

answer:D,

Q4 which acts as both inverter and converter? | SiT 3=acx 3R HaIdeX Gl & &I H FHA HIAT
&7

A Metal rectifier | &Tq feseshrY

B Mercury arc rectifier | FRT 31T fEseahrY

C Semiconductor diode | 3r¢TTels STATS

D Synchronous converter | coic»qqoll'ach ol

answer:D,
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Q5 What is the function of inverter? | S=a¢< T I FAT &7

A Convert A.C to D.C | A.C &I D.C # STl

B Convert D.C to A.C | D.C &I A.C H Scolal

C Smothering A.C. sine wave | A.C HISsT daT &l FY el

D Convert pulsating DC into pure D.C | Pulsating DC &t jeu D.C H dgel
answer:B,

Q6 Which converting device can be overloaded? | lsT AT IRace 90T 311 og fohar oT
Hehell 872

A Rectifier unit | feselY gfae

B Rotary converter | Jedl $eiae

C Motor generator set | AleY SeeX ¥

D Mercury arc rectifier | FXEH 37T feseahnir

answer:A,

Q7 Why exciter is essential to run a synchronous motor? | f&slaT Al &I T & forw
3AoTeh FAT 3TTTh §72

A Carry more load in motor | #AleX # 31f8ie $IR o ST

B Improve the power factor | 9Ta¥ therex & Jur

C Reduce the losses in motor | mﬁﬁg’lﬁmﬁﬂﬂmﬁwﬁ

D Run the motor at synchronous speed | #leX ot qegehlicleh el & TellT

answer:D,

Q8 Which application requires only DC? | foh& TICeIehelel &l shdel SIGT Sl a2l g2
A Electroplating | faegd orue

B Stepping up of voltage | dlecsT d&l=lT

C Operating induction motor | $82leT Al JdTeldl

D Operating repulsion motor | 9fciehNUT HIeX YaTelel

answer:A,

Q9 Why the LED's are avoided as converters in rectifier diodes? | f&seail 3/aTs & TaSar 1
FedcH & T H FAT FHIH H 78T ToldT ST &2

A Heavily doped device | 3if8i& 3ics gfFd

B Very low power device | g % BiEs) giFd

C Designed for light emitting’| ST SeasieT & foIT a=iram 12T &

D Very sensitive to temperature | A9l & el Sgcf HageT2iier

answer:B,

Q10 which is the main application of synchronous motor? | f&shleTe HICE T HTT 39T
el ATR?

A Elevators | forore

B Paper rolling mills | 3Tt Afeier fAar

C AC to DC converter | THT & 1T Shelac

D Power factor correction device | 91aX thareX sarereT f3arsa

answer: D

Q11 What is the advantage of motor generator set? | eI STe T T ATH FAT §?
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A Noiseless | AREIT

B High efficiency | 3T g&Tdr

C Low maintenance required | shH IE&XMTT $T 3MaTHar g

D DC output voltage can be easily controlled | ST 3T3eYE dlecst I 3T & A frar
ST HHAT S

answer:D,

Q12 What is the function of the part marked as X of the rotary converter? | Jel eI &
$T3T X ST T T 72

3 PusSD
¥

Ly Larian

e 5

A Converts AC to DC | T&HT & 31T 3 gRafdd #idr g

B Reduces voltage drop | @iecsT 319 &t &ha aldl &

C Helps to deliver without noise | fSi=IT 2T & 31T3eqe &=t & Heg Hicl &
D Collects the delivered direct current | fadRd UcTaT YURT Tehd hXclT &
answer:D,

Q13 What is the purpose of damper winding in a synchronous motor at starting? | ?Fﬁw
Jegehlioleh HIC # SFIT ATSTSaT T 36T FAT 572

A Produce high voltage to initiate the rotation | eI Y& Fel & fIT 3T dlecsT FI 3cUIes
Ty

B Produce high current to start rotate the motor | #eX T gHT & T ITa URT T Scqree
-

C Produces torque and runs near in synchronous speed | € YeT il § 3N Joahiieien
I & ITH eIl §

D Produce a high magnetic field to maintain a constant speed | T @ad 31fd §TC T@ &
ToIT Teh 3= by &7 7 A Tor Y

answer:D,

Q14 Why the synchronous motor fails to run at synchronous speed? | T8I A AT
Tt & AT AT TeTcdT?

A Insufficient excitation | 379 3aetelT

B Defective pony motor | 19U Gieil HIeX

C Open in damper winding | el SFIX aTSfar

D Short in damper winding | 39X aT&f3er & Qe

answer:A,

Q15 How the synchronous motor is used as a synchronous condenser? | [l HleX i
I H3TeR & T F Fa 3TN fohdT 1T 872

A varying the motor load | Al &lig # Sgard

B varying the rotor excitation | JeX 3xTeTT & SGalTd
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C Varying stator voltage in motor | FleI H TeX dlecst H dGolld
D varying stator current in motor | #leX H T YRT H deolld

answer:B,
Q16 What is the function of damper windings in synchronous motor? | Jeahifelsh HleX #
SFqR arsf3ad T AT F1T 872

A Maintain power factor | 9fax tharex =TT I

B Excite the field winding | s arsf3ar I 3afad #¥
C Maintain constant speed | faaa a1fa seme 3@

D Start the synchronous motor | fAshleTd AT Y& Y
answer:D,

Q17 Which converter is having high efficiency? | Bl & shalact & 3TT G&TdT g2
A SCR converter | SCR &dac

B Rotary converter | Jedl #sTde

C Motor generator set | #leY STl AT

D Mercury arc rectifier | #Ih 37T feseahriy

answer:A,

Q18 How synchronous motor works as a power factor corrector? | & Slcquolfc\ﬂqw AT qTa’
thefeY GUReh & &9 H H1H il 57

A varying the line voltage | @8l dlecol H SGolld

B varying the field excitation | Bieg 3A91T H dcolld

C Increasing the speed of motor | AT T 1T TGT=AT

D Decreasing the speed of motor | #eX T 31fd Ter=r

answer:B,
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